

only line Abun
 15/11/2019

$$\textcircled{1} \quad y = e^{x^2+x}$$

$$u = x^2+x$$

$$\frac{dy}{dx} = 2x+1$$

$$y = e^u$$

$$\frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$= e^u \times 2x+1$$

$$= 2x+1 e^u \quad u = x^2+x$$

$$\frac{dy}{dx} = 2x+1 e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = 2 e^{x^2+x} + (2x+1)(2x+1) e^{x^2+x}$$

$$= 2 e^{x^2+x} + 4x^2+4x+1 e^{x^2+x}$$

$$= 2 e^{x^2+x} + 4x^2+4x+1 e^{x^2+x}$$

$$y'' = \frac{d^2y}{dx^2} \quad y' = \frac{dy}{dx} \quad y = e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y'' = 2 e^{x^2+x} + 4x^2+4x+1 e^{x^2+x}$$

$$y' = (2x+1) = (2x+1)(2x+1) e^{x^2+x}$$

$$= 4x^2+4x+1 e^{x^2+x}$$

$$2y = 2 e^{x^2+x}$$

$$y' = (2x+1) + 2y = 2 e^{x^2+x} + 4x^2+4x+1 e^{x^2+x}$$

$$= 2 e^{x^2+x} + 4x^2+4x+1 e^{x^2+x}$$

$$y'' = y' (2x+1) + 2y$$

$$\begin{matrix} | & & | \\ k_1 & & k_2 \\ | & & | \\ k_3 & & k_4 \end{matrix}$$

$$u = y''$$

$$v = 1$$

$$u^n = y^{n+2}$$

$$v = u$$

$$= y^{n+2-1} + 0$$

9

$$\begin{aligned}
 u &= y^1 \\
 u^n &= y^{n+1} \\
 u^{n-1} &= y^n \\
 &= y^{n-1}(2x+1) + n(y^n) \cdot 2 + 0 \\
 &= y^{n-1}(2x+1) + 2n(y^n)
 \end{aligned}$$

k_3

$$\begin{aligned}
 u &= y & v &= 1 \\
 u^n &= y^n & v' &= 0 \\
 &= 2(y^{n+1}) + 0
 \end{aligned}$$

$$\begin{aligned}
 k_1 &= k_2 + k_3 \\
 y^{n+1} &= y^{n+1}(2x+1) + 2n(y^n) + 2y^n \\
 &= y^{n+1}(2x+1) + 2(n+1)y^n
 \end{aligned}$$

9 $y = x^3 e^{4x} \quad y^5$
 $u = e^{4x} \quad v = x^3$

$$\begin{aligned}
 y^5 &= 5u^4 v' + 5u^3 v'' + 10u^2 v''' + 10u v^2 v^{(4)} + 5u' v^4 + u v^5 \\
 &= 4^5 e^{4x} \cdot x^3 + 5(4^4 e^{4x} \cdot 3x^2) + 10(4^3 e^{4x} \cdot 6x) + 5(4^2 e^{4x} \cdot 6) + 0 \\
 &= 1024 e^{4x} x^3 + 1280 e^{4x} 3x^2 + 6400 e^{4x} \cdot 6x + 80 e^{4x} \cdot 6 \\
 &= 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 38400 e^{4x} x + 480 e^{4x}
 \end{aligned}$$

8 $x^2 \frac{dy^2}{dx^2} + x \frac{dy}{dx} + y = 0$

$$\begin{array}{ccc}
 x^2 y'' & + & x y' & + & y & = & 0 \\
 \omega_1 & & \omega_2 & & \omega_3 & &
 \end{array}$$

$$k_1 + k_2 + k_3 = 0$$

For ω_1

$$u = y^4 \quad v = x^2$$

$$u^n = y^{n+2} \quad v' = 2x$$

$$u^{n-1} = y^{n+1} \quad v'' = 2$$

$$y^{(n+2)}(x^2) + n(y^{n+1})2x + \frac{n(n-1)y^n \cdot x}{2} = 0$$

$$= x^2 y^{(n+2)} + 2nx y^{(n+1)} + n(n-1)y^{(n)}$$

for w_2

$$u = y \quad v = x$$

$$u^{(n)} = y^{(n+1)} \quad u = 1$$

$$u^{(n-1)} = y^{(n)} \quad u^{(n)} = 0$$

$$y^{(n+1)} x + n y^{(n)} + 0$$

for w_3

$$u = y \quad v = 1$$

$$u^{(n)} = y^{(n)} \quad v = 0$$

$$y^{(n)}$$

$$w_1 + w_2 + w_3 = 0$$

$$x^2 y^{(n+2)} + 2n x y^{(n+1)} + (n^2 - n) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)}$$

$$x y^{(n+2)} + 2n x y^{(n+1)} + x y^{(n+1)} + n^2 y^{(n)} - n y^{(n)} + n y^{(n)} + y^{(n)}$$

$$x^2 y^{(n+2)} + 2n + 1 (x y^{(n+1)}) + (n^2 + 1) y^{(n)}$$